WORKSHEET 19

a) If r = 3, s = 5 and t = 2

Find 

r + s



rt + rs




t – s



rt + s




r(t-s)



t – sr

b) Work out the values of x(y – z) 

when x = 1, y = 2 and z = 3

when x = 5, y = -2 and z = 1

when x = -3, y = 5 and z = -2

when x = 7, y = 4 and z = -4

c) Work out the following: -

(p + q)(r + s)

p = 1, q = 5, r = 7 and s = 2

(a – b) ÷ c

a = 6, b = 2 and c = 3

2(d + e) – 3(d – e)

d = 3 and e = 5

5(x – y) + 2y

x = -3 and y = -1

d) Algebra can be used to calculate area and perimeter.

Area of a rectangle = length x width




 = l x w




 = lw

Perimeter of a rectangle = 2 x length + 2 x width




         = 2l + 2w

Find the area and perimeter of the following rectangles: -


